

ADDENDUM NUMBER ONE

October 5, 2022

RFQu #22-913-45 GRASS CUTTING SERVICES FOR HANO VACANT LOTS

THIS ADDENDUM IS BEING ISSUED TO INCORPORATE THE FOLLOWING IN THE REFERENCED REQUEST FOR QUOTES.

Item #1 Can you please provide a list of the properties so we can view them?

ANSWER:

Address	Lot Size	Land Area	Acreage	Address	Lot Size	Land Area	Acreage
1415-17 Gen Ogden	30 x 120	3,600	0.08	3819 Havana Pl	30 x 83	2,490	0.06
1433-39 Gen Ogden	66 x 90	5,940	0.14	3644 Annunciation	42 X 130/127	5509	0.12646924
1738-40 Gen Ogden	30 X 120	3,600	0.08	3664 Annunciation	42 X 135/133	5737	0.1317034
5718-20 Claiborne	39/30 x 106	7,314	0.17	735 Amelia	34 X 103/100	3450	0.0792011
4811 Marais	37 x 163	6,031	0.14	4925 Baccich	50 x 120	6,000	0.14
4815 Marais	37 x 163	6,031	0.14	1508 Hendee/Lawrence/Ptolemy	Various	45,900	1.05
1111-13-15-17 Reynes	59 x 120	7,140	0.16	1016-1038 Tennessee	39 X 120	18,720	0.40'
5400 N Villere	30 x 120	3,600	0.08	4827 N Rampart	75 x 123	9,225	0.21
1410-12 Fats Domino Ave (Caffin)	30 x 131	3,930	0.09	410 Pleasant	Various	32,824	0.74
1436-38 Fats Domino Ave (Caffin)	30 x 131	3,930	0.09	2400 St Thomas	34 x 120	4,080	0.09
1440-42 Fats Domino Ave (Caffin)	30 x 131	3,930	0.09	2411 St Thomas	28 x 115	3,220	0.07
1329-31 Charbonnet	31 x 120	3,700	0.08	2417-19 St Thomas	28 x 114	3,192	0.07
1334-36 Charbonnet	31 x 108	3,348	0.08	930 7th	32 x 127	4,064	0.09
2405 Charbonnet	31 x 122	3,782	0.09	1400 - 1440 Gen Ogden	Various	36,132	0.84
1227-29-31 Alabo	30 X 146	4,380	0.10'	1415-17 Gen Ogden	30 x 120	3,600	0.08



Address	Lot Size	Land Area	Acreage	Address	Lot Size	Land Area	Acreage
1616 Laharpe	34 x 72	2,448	0.06	1715 - 1735 Cambronne	Various	25,222	0.57
1916-18 N Roman	32 x 160	5,120	0.12	1324-26 Eagle	30 x 120	3,600	0.08
2023 N Robertson	54 x 94/96	5,130	0.12	1925 Monroe	40 x 150	6,000	0.14
2120 Hope	32 x 128	4,096	0.09	8516 Cohn	25 x 100	2,500	0.06
2704 A P Tureaud	30 x 110	3,300	0.08	8520 Zimple (a.k.a 8522)	30 x 150	4,500	0.10'
2818 Burgundy	30 x 110	3,300	0.08	8718-20 Willow	30 x 150	4,500	0.10'
2819 Dauphine	60 x 209	12,540	0.29	8811 Hickory	60 X 90	5,400	0.12
1740-42-44-46 Poland	45x93x96x106	7,015	0.16	9031 Cohn	30 X 120	4,680	0.10'
1830-32-34-36 Poland	211/187 x 103		0.22	1915 Leonidas (a.k.a 1909)	40 x 150	6,000	0.14
2118-20-22 Danneel	30 x 126	3,780	0.08	8725-27 Plum	50 x 120	6,000	0.14
2901-03-05-07 Dryades	88 x 100	8,800	0.2	8951 Birch (a.k.a 8901)	90 x 120	10,800	0.25
1816 Clio	26 x 159	4,156	0.09	1625 Eagle	30 x 120	3,600	0.08
2225 Third	30 x 115	3,450	0.08	10820 Yardley	68/62 x 89/102	5,549	0.13
2400 Jackson	32 x 90	2,880	0.07	7917 Danube	50 x 120	6,000	0.14
3749-55 Apache	60/87 x 112/48	4,800	0.11	7909 Danube	30 x 120ea	7,200	0.17



Address	Lot Size	Land Area	Acreage	Address	Lot Size	Land Area	Acreage
2129-31-33 Painters	43 x 105	4,515	0.10'	2234 Lizardi	31 x 106	3,286	0.08
1218 N Broad	62 x 148	9,176	0.21	1000 Melpomene	32 x 160	5,120	0.12
1500 Dumaine	37 x 63	2,331	0.05	1231 Constance	31/63 x 127/127	12,042	0.27
1808 Bayou Rd	33 x 115	3,846	0.09	1120 Thalia	28/28 x 127/128	7,294	0.17
1814 Bayou Rd	33 X 112	3,696	0.08	1421-23-25 Constance	31 x 127	3,937	0.09
1818 Bayou Rd	28 X 122	3,416	0.08	2331-33 Annunciation	34 x 159	5,406	0.12
919 N Villere	37 x 127	4,572	0.10'	1705 St. Thomas	34 x 90	3,105	
1834 Ursulines	21x76+18x106	4,134	0.09	2522 N Rampart	91 x 128	11,648	0.27
2115-17 St Ann	31 x 127	3,937	0.09	3605 S Saratoga	33 x 107	3,531	0.08
2018 Bienville	41 x 135	5,637	0.13	5901 Dorothea	66 x 120	7,920	0.18
518 Opelousas	30/32 x 68	2,108	0.05	6955 Downman Rd	63 x 120	7,560	0.17
539 Patterson	30x70+60 x 90	7,500	0.17	4700 Flake (a.k.a 4760)	50 x 95ea	4,750	0.11
717 DeArmas	36 X 129	4,644	0.11	5842 E Deer Park	44 x 113	4,915	0.11
3023 Amazon	50 x 120	6,000	0.14	5854 E Deer Park	40 x 113	4,520	0.10'
6758 Tara Ln)	54 x 140	7,560	0.17	5862 E Deer Park	44 x 113	4,915	0.11

Address	Lot Size	Land Area	Acreage	Address	Lot Size	Land Area	Acreage
1233-35-37 Alabo	30 X 146	4,380	0.10'	6318-20 N Villere	30 x 169	5,070	0.12
1239-45 Alabo	55x110/103	6,050	0.14	1511-17 Egania	112 x 120	13,440	0.30'
1342-44 Alabo	31 x 120	3,720	0.09	5520 Urquhart	31 x 132ea	8,184	0.19
1504-06 Alabo	31 x 120	3,720	0.09	1416 Lamanche	28 x 140	3,920	0.09
1423-23 1/2 Benton	15 x 120	1,800	0.04	1301-03 Gordon	30 x 111	3,330	0.08
1425-27 Benton	15 x 120	1,800	0.04	1318-20 Gordon	30 x 126	3,780	0.09
1800-02 Gordon	34 x 126	4,284	0.10'	1340 Gordon	30 x 126	3,780	0.09
1804-06 Gordon	30 x 126	3,780	0.09	1424 Gordon	30 x 120	3,600	0.08
1808-10 Gordon	30 x 126	3,780	0.09	1514-16 Gordon	30 x 120ea	7,200	0.17
6000-02 N Robertson	43 x 75	3,225	0.07	1530 Gordon	30 x 120ea	7,200	0.17
6112-14 N Robertson	30 x 169	5,070	0.12	1531-33 Gordon	30 x 120ea	7,200	0.17
6116-18 N Robertson	30 x 169	5,070	0.12	1300-02 Tupelo	45 X 169	7,605	0.17
6301-03 N Robertson	55 x 107	5,885	0.13	1308-10 Tupelo	45 X 169	7,605	0.17
6309-11 N Robertson	50 x 107	5,350	0.12	1415-17 Tupelo	61 x 111	6,771	0.16
6317-19 N Robertson	58/58 x 107/107	12,412	0.28	1751-53 Tupelo	47 x 126	6,016	0.14



Address	Lot Size	Land Area	Acreage	Address	Lot Size	Land Area	Acre
5904 E Deer Park	53 x 113	5,989	0.13	220-22 Eleonore	40 x 120	4,800	0.1
5912 E Deer Park	44 x 113	4,915	0.11	400 Dufossat	Various	18,640	0.4
5920 E Deer Park	44 x 113	4,915	0.11	5312 Constance	90 x 120	10,800	0.2
5928 E Deer Park	44 x 113	4,915	0.11	518 Cadiz	43 x 105	4,515	0.1
5048 Read (a.k.a Parcel 56641 Read Rd)	52/66 x 100	5,900	0.13	2615 Delery	N/A	86512	2
1913 Wilton	60 x 125	7,500	0.17	4100 Royal	N/A	83617	
3421 Hamburg	30/60 x 180	5,100	0.12	6630 Chef Menteur HWY	N/A	6490	
3425 Hamburg	30 x 110	3,300	0.08				
1915-17 Feliciana	31 X 117	3,627	0.08				
1406-08 Congress (Various)	30 x 107ea	12,840	0.28				
1615 Port	26 x 131ea	6,812	0.16				
1319 Montegut	31 x 138ea	12,834	0.30'				
1927-29 Mandeville	32 x 105	3,360	0.08				
3013-15 Mandeville	53 X 160	8,480	0.19				
2123-25-27 Painters	43 x 105	4,515	0.10'				

ANSWER: No. We will not provide financial information for past contracts for these services.

Quotes must be received by the Housing Authority of New Orleans (HANO) in the Office of Procurement and Contracts by 2:00 p.m., local time on Tuesday, October 11, 2022. The final day for questions is Thursday, October 6, 2022. All terms and conditions shall remain as stated in the original Request for Quotes. All addenda must be acknowledged.

END OF ADDENDUM NUMBER ONE